wk6 alg 1st.notebook

February 05, 2019

February 4, 2019, Monday g» I I X+ b

Write the slope-intercept form of amq

1) 3x+ Tp=-21 2) y-2r=-1
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6Graphing Linear Inequalities

1) Solve for yl Make sure the equation is in Slope-intercept form.

g
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2) Graph using slope and y-intercept.
3) Solid or dashed line>

mx+b
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4) Shade above or below?

**Vertical Lines will be shaded to the right or left
** When the sign in front of the Y is negative, the direction of the inequality

o Qoshad sk’

Solid Line Graph: x>3 Graph: y<-3  Q0UIO

N

. N
T | : d§ \M] R

\
o - A V.5 )
shade above p———. L —9;@’;\6,,,‘,,,_: ié oz, ~ 5o d fin’

y<-Yx+2 2%
y=zxa2 Sugn
2 e 2
[ g ity m= 7

Ly,

=l

shade below HH 4 E)C% b=-

N}

Hi
818
i
IR R
Z4! H
Kauta Softwace - Ifiite Algebra | Name
Graphing Linear Inequalities Date Poriod
Sketch the graph of cach Hinear incquality.
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GsE Agebral Unit 2 Solving Equations and Inequoliies Review
Nauues Date:

Unit2ASady Guide:

February 5, 2019, Tuesday Find the solution g e-h;\ ) g Write your un-n---mnm:\.:m el

‘Sketch the graph of each linear inequality. @ ms> ] _ >_ _
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7. A store sold 32 pairs of Brand A per pair and Brand B sold for 1o Ih
$35 per pair. How many of Brand A were sold?

ot KN .
quo.nh a + b = 5 mare thn 2 tmey a number s greaer than 21 %\

lo
antg>2] sy
i o + st g
price 3% +35(32-c0_|oso e 5«1;@19 02 am.fj n>§
mz nm d)m " EEEEEREREE sw’ ,@“’”’C

55 Yo e e enersl i Slveth ltral eqtionfor th indicted variable
" guanity s Y 9= 350 et TWWLY e

price 3s+59= 1450

9. bouquet of flowers teacher. Lilies cost $3.00 each and 13. —fc fora
roses cost $4.00 each. You have budgeted no more than $28 to spend on flowers. Grapha lmear
Troqualy o s e aiflowaryon conpurtgse: | X =Y
3£ +(_fr. 4&8 D=2 ma=t2 ga=22 wa=3 o
A 4y £317 vt S
-Z¥ salsa costs $2 perjar.
é.. 32( +2% a write
l_/
~3yr2
Y 3% Tf
1o, S Wl 3 b a I >
o276 g
BX*W }b 0(5.).‘. lb\lﬁ\/{ py‘w‘ . 1f 1 buy 6 bags of chips how many jars of salsa can | buy? o
iy= 1L Subivachua PO funlity :
X227 Division PO Eeou,ﬂ’/ ;

Jan 31-11:19 AM Jan 31-11:20 AM

15.Given the equation 2x 1 3y = 12, tinto s f
February 6, 2019, Wednesday
N 2 Which nmver!y appropriately justifies the
2t wi 91 o4 . - mmissing =
1. Salve thi system of equations by yOUT choice LT - —

Equation Steps.
3k-5=7 Original Equation
k=12 7

k=4 Division Property of Equality

del th

18.Whatis the solution to the inequality 5x — 15 2 2x +6?

19, The formal led e and time. 5 Acar
drove »e

..test

20. de ifa i
algebraically):

a) Tnfinitely many solutions

b) Nosolution

Jan 31-11:20 AM Jan 31-11:24 AM
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Ly Aciviy Name. ™1 Ly Aciviy Name 1
Applications of Linear Systems D period Applications of Linear Systems Perod.
1 B ands by « 1 rass. They 1) i nd o improved iy by lningdylils ol s Ty
12 doliis and 13 buchesof p s 12 dayiles and 12 bunches of
oramental gis. Rob spnt 66 on 8 day s and 6 Bunches o cnamentlgrass. Fin the ost Find the cost
ofone daylity and the costof one bunch of ormamenal rass.

of one dayily and the cost of anc bunch of omamental grass.

daylily: 3, bunch of omamental grass: $7

2) The senior classes at High School A and High School B planned separate rips o New York City. 2) The senior classes at High School A and High School B planned separate trips to New York City.
i senior lass at High School A rented and filled 2 vans and 12 buses with 672 students. High eluss at High School A rented and flled 2 vans and 12 buses with 672 students. High
School B rented and illed 12 vans and 5 buses sith 414 students. Exery van ad the same. School B rented and filled 12 vans and 5 buses with 414 students. Every van had the same.
wmber o sudents n it s did the buses. How many students can a van carry? How many iber o students i i as did the buss.. How many students can a van carry? How many
students cana bus carry? students can a bus carry?

Van: 12, Bus: 54

3) Th 3) e school that Emily goes to s sellingtickets 0.3 play. On the frs day of ticket sales the
choo S0k senior it ket and  sude ket for ol $102. T ol ok n school sold 9 senior itizen tickets and 6 student tickets or  toal of $102. The school ook in
sT200 4 senior citizen tick 5. What i the prce. s2on 4 senior ‘Whatis the price
cach of one senior citzen ticket and one studen ticket?

each of one senior ciizen tice and one student ticket?

senior citizen ticket: S6, student ticket: S5

4) Imani's school is seling tckets o the annual talent shorw. On the first day of ticket sales he

4) Imani'sschool s selling fickets o the anmual talent show. O the first day of ticket sales the
school sold 12 senior citzen tickets and 4 child tiekets for a fotal of $96. The school took in school sold 12 senior ciizen tckets and 4 child tickets for a ttal of $96. The school to0k in
$110.0n the second day by selling 11 senior citzen tickets and 11 child tickes. What i the price $110 0 the second day by selling 11 seniorcitizen tckets and 11 child tckets. What i the price
each of one senior citizen ticket and one child ticket? each of one senior citizen ticketand one child ticket?

Senior ctizen ticket: 7, child ticket: $3

Mude s e A Do v e tie A s el Hads e

Feb 1-9:14 AM Feb 1-9:14 AM

Solve using the T1-36 X-Pro Solve using the T1-36 X-Pro

6 Sx-4y=16
Sx-dy=l6

(4,-1)

7 2ee5p-0 8 pdeas
y=-2v+3 3,

7 2v45p--9

9y Py 10 yeTers
) ¥
Lz
3

Feb 1-9:14 AM Feb 1-9:15 AM

Algebra 1: Spiral Uric 1 Block
Crers oner e momber s mafonal Which sctement aneutx—3 s e st

February 7, 2019, Thursday Al bl
€. x-3 can be rationl or nationdl,
Gepending on the value of x.

Multiply V5 eV2  write your answer in simplest form. MosED-12NAN2

Soiv the lerel equation for Z:
8 om = feet weser-12nal
Citcle one: Which measurement is more precise? Mesizas

slem or 37mm

Solve the literal equation for W w-y=22
. How many ferms are in the polynomial?  ~2x"+47 Masts-1z A5
Sublract polynomials:  (w+4)-(3w+2] -
. biyclecan travel at second. Whatis the

top speed the bicycle can travel i miles per hour’
(1 mile = 5,280 feet) (N.0.16)

A0004mph  B.023mph  C.136mph  D.105.600 mph
The width of Which o
(AssE.1b)

..test
Ax-6 cxt6 0.6x

9. Which expression iscquivalent to V3Z ~ VB? (N.AN.2)
Az B.6V7 €26 0.2vT0
0.

Whatisthe result of (-6x + 7) + (196~ 112 (AAPR1)

Ax 48 B+ c19x D.25x 46

Feb 1-9:15 AM Jan 31-11:28 AM
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Algebra 1 ~ U28 Day 1,2/8/2018 Functions and Relations NOTES

February 8, 2019, Friday Terms to Know:

® Relation: Any set of that has an

® Function: A such that every single. has exactly
Highly missed from U2ATest output.

© Domain.

© Range

How do 1 determine if a relation is a function?
© Each input must have output.

© Lok atthe graph...The vertical line test: Novertical line can pass through
points on the grapl

Here are 2 examples of functions and the 3 is NOT a function:
1

itput of the number of meters
the runner has covered.

.
Namber ofseconds o) [ 1]

2 y=x=6,wherexisth output.
Youtry these: Ave those relations fnctions?
1. {(3:2).(43).(5.4).(65)
. 3 4
LAT o
)
)
Function Notation:
°
Algebra 1~ U2 Day 2, 2/9/2018 i Nane.
P T ————— Do e e ety s s o 3
© Example: f(x) = 2x+ 4is the same asy = 2x+ 4 . ’ !
Function Notai sy Notation - FERPHHE
f(x)-5x+2 * -
y-x-7
Fvaluating Functions:
a 1 5. 6.
8 Given [(X) = 2x+3, ind 11-2) 9. Given 1(X) = 2x+3, Bnd 109 = .
Decidewhether therelation s a function.
10. Given f(x) = 3 + 4, find f(2). 11. Givin f(x) = -2(x - 5), find f(x) = -20.
7 [mput ouput| | & [wput oupur| | % [mput outut
7 0——6
=7 Fpa——) 2— 4
5 s—— JR—
[ T e —0
Evaluate the fanctio fo the given values.
10.7(x) =265, 8 = 15 10 h(x)=6x+2, h(x)= 20 12.9(x) - 24%, 80 - 12.

Jan 31-11:33 AM Jan 31-11:40 AM

131(x) =26 -3, 12) 14 h(x)=x" - 4x  12) 151(x)= (4 2 ~6,13)

Explore the internet to locate 3 examples of functions & 3 non-examples of functions

I6/(x) = 25-3,g6) = ¥' 2, and h(x) = x' ~3x.+5, ind each of the following;

16. 1¢4) 17. 1¢3) 18. g(2)

Jan 31-11:40 AM Jan 31-11:42 AM
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Define the following vocab:

February 7, 2019 Thursday

Domain, range, slope, end behavior, x-intercept, y-intercept. Include a picture fore each.

Jan 31-11:42 AM

Average Rate of Change (AROC) Notes

Rate of Change

Positive ~

Negative ~

®
e
®
@ Which function has  constant rate of change?
°
®

Vertcal Lines ~

Constant Rate of Change:

between any twa polnts on the lne.

Bxample 1: Find the slope between (2, 4) and (4,8).

_changeiny _rise _
= Changeinx run

2: The table shows the amount of water
evaporating from 2 swimming pool on a hot day.
Find the rate of change bebween 2 hours and 6 hours.

[ T 5 T % ]
[Gallons evaporated

which hs the greatest rate of change?

Whats the value?

Jan 31-11:44 AM

Average Rate of Change HW

D y the average rate.

D

) x=2t0x=

b) x= Ltox=0.

9 x=0tox=1,

@ x=2tox=1

2  identify the

) x=Lrox=1

§ x=2t0x-3.

b) x=0tox=14,

@) x—-Ttox—4.

February 05, 2019

Algebra 1 ~ U2 Day 2,2/9/2018 Characteristics of Linear Functions Notes
Words to know:
> Domain;
> Range:
> Interval of Increase C slope):
> End Behavior:
> xeintercept(s):
> yeintercept:
Examples:
Domain: wintercept:
Range: yintercept
e Interval:
End Behavior:
Asx>-on, 1) >
Asx>en, () >
Domain: xintercept:
Range: yeintercept
Interval:
End Behavior:
As x>0, ) >
s x>0, 1(x) >
Domain: xcintercept;
Range: yeintercept:
> Interval:
End Behavior:
As x>0, 1) >
s x>0, 1) >

Jan 31-11:44 AM

Algebra 1~ Day2,2/9/2018

Characteristics of Linear Functions HW  Name

Domain: intercept:
Range: yintercept:
Interval

End Behavior:
Asxd-en, 16>

Asxden, 100 >

Domain: eintercept:
Range: yeintercept:
Interval:
End Behavior:

Asxdw 0>

Asxdonfe) >
Domain: xintercept:
Range: yintercept:
Interval
End Behavior:

Asxdoen, 109>

Asxdenf) >
ki Domain sintercept:
Range: yintercept:
e Interval:
End Behavior:
Aoxd 0>
a3 Asxdenf)>

Jan 31-11:45 AM

Draw a linear graph

partner identify.

domain
range
x-intercept
y-intercept
end behavior

Jan 31-11:45 AM

Jan 31-11:45 AM
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Algebra 1 ~ Day 3,2/12/2018 Arithmetic Sequences Notes
&helps you find
February 8, 2019 Friday Common e Formia bl Formi
Identify 4 characteristics for each graph. .

an=ani-22 m=18

‘Youhave read 25 pages of a book. You plan to read an additional 10 pages each night.
a List the first five terms of the sequence.

b. ‘pag d after nnights.

Youare going on vacation. You have S105 (o bring with you. You expect to spend $15 each day. You
want to have $30 remaining at the end of the vacation.
2. Write an explicit formula to represent this scenario

b.. For how many days can you spend $15 each day?

Jan 31-11:54 AM Jan 31-11:58 AM

Even and 0dd Functions Notes

GRAPHICALLY: Algebra ~ Day 3,2/12/2018 ithmeti Name.

1 a 47,10,13,16,19

Afunction is it

Afunction is if. 2 Whatis the common difference for the following sequence: -5,-12, 19,26

Draw an example of an odd and even function. 3. The first five terms of a sequence are 2, 12,22, 32,

opD EVEN 2) Whatis the recursive formula for the sequence?

b) Write the explici formula for the sequence.

©) Whatis the 30% term i the sequence? s =

Neither Gven nor 0dd
1 1 4.You

) Write the fist. five terms of the secquence.

. b) Write an explicit formula o represent the sequence.

ALGEBRAICALLY
Afunction s al
Afunction s al
Afunction s al - T 5 3 - 5

¢ which a 7 1 i3 i 1

makes itan even exponent!)
Esamples:
Even odd Neither
a4 7,02
) Find the frs 5 term of the sequence.
Even/0dd Functions HW/Practice “Tel whether the uncton s even,odd, or nither

0=x % (9= 120 CEET

)9 T(x)=511 00=5

Can a linear funcion ever be even
or odd? Ifs0, sketch an example.

Jan 31-12:00 PM Jan 31-12:00 PM
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